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INSTRUCTIONS:

Please write clearly using a dark-coloured (black) pen.

Answer all questions in Section A and one in Section B

Please write the answers in the space provided after every question.
The text has been provided at the end of the question paper.
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SECTION A:

Reading
Read Text 1. Then answer Questions 1-3.

You should spend about 1 hour 20 minutes on the WHOLE of Section A
(Questions 1-7).

Write your answers in the spaces provided.

1. From lines 2 to 6, what is the main reason according to the writer that American education

> is failing?
Lock g, eweskiet v edaalsy and edmcdlirs

(Total for Question 1 = 2 mark)

2. From the second paragraph, what is the response to the raises offered to the teachers?
Identify the language device used as well.

o bl o L' The regmse s outbi

. (Total for Question 2 = 2 mark)
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the negative word too

good but better to use
—modifiers and definers
for extra marks
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Read Text 2. Then answer Questions 4-6.

Write your answers in the spaces provided.

Given the large
population, a small
percentage is a large
number

4. From lines 4 to 6, what represents only the tip of the iceberg?

T obions ane vigikh o evaple vorlli Ly

-

(Total for Question 4 = 1 mark)

5. ‘A degree has become a passport to a scarce job’. Show how the writer uses language to describe
this ‘degree’.

(Fl“lﬂézoz#’u WnL 'Scpree! Jw/} ﬂ*ﬂaluh&%wdfrjaw

ou{ré W@MWW AP
.

(Total for Question 5 =1 mark)

8/15 6. In this extract the problems of the educational system have been discussed, but the solutions
have been provided as well.

Evaluate how successfully the solutions have been provided.

Support your views with detailed reference to the text.
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ThIS must be a solutlon as you have begun with those
add the speaker tag:

words. You have only written about the problems
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—IThe meaning of this seems to
have been misunderstood. It
means that the teachers have
become complacent instead of
challenging the issue that
concern education
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——The question has asked for the solutions that the essay provides along
with the problems. Some of the points you could have written:
—|-failure to formulate appropriate policies to deal with the crises is
deemed as the biggest reason which could have been addressed
-number of institutions is not the problem but their funding is;
corruption is one of the biggest problems which needs to be tackled
first

-private institutions' desire to maximise profits is one of them which can
be curbed to increase the quality of educators

—]-increase in the division between the well-off and the poor due to
increased commercialisation of education can be prevented through
———stringent policies

-the issuing of fake degrees and malpractices must be stopped
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-the issuing of fake degrees and malpractices must be stopped
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Question 7 is about Text 1 and Text 2. Answer both parts of the question-

Refer to both texts in your answers.

Write your answer in the space provided.

7. (a) The tone about education is similar in both texts.

What similarities do both authors share?

good point right at the

Use evidence from both texts. :
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SECTION B:
Transactional Writing
Answer ONE question. You should spend about 45 minutes on this section.
Write your answer in the space provided.
EITHER
n the World’

8. Write the text for a speech at your school titled ‘One Thing | Wish to Change i

In your speech

o why you have chosen that one thing
« what has led you to choose that
« people/ issues that would be affected by it

as well as any other ideas you might have.
*Your response will be marked for the accurate and approp

punctuation and grammar.

riate use of vocabulary, spelling,

(Total for Question 8 = 40 marks)

OR

9. Write an article for a magazine on how a school's education prepares you for the rest of

your life as well as its shortcomings.

In your article

write about the lessons a school education gives you
« write about how it falls short of some of the life lessons
« how can these shortcomings be addressed

as well as any other ideas you might have.
*your response will be marked for the accurate and appropriate use of vocabulary,

spelling, punctuation and grammar.

(Total for Question 9 = 40 marks)
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touch upon how it can fail \

——

Turn over

CamScanner


https://v3.camscanner.com/user/download
MB:learn2write
Callout
Good topic sentence. You could also use other methods to hook the reader: quotes, controversial statements etc.

MB:learn2write
Callout
add one

MB:learn2write
Pencil

MB:learn2write
Callout
comma before a coordinating conjunction

MB:learn2write
Callout
sp: career

MB:learn2write
Callout
learn 

MB:learn2write
Pencil

MB:learn2write
Callout
sp: always 

MB:learn2write
Callout
no comma when you begin with an independent clause

MB:learn2write
Highlight

MB:learn2write
Pencil

MB:learn2write
Callout
comma to set of essential element.

MB:learn2write
Line

MB:learn2write
Callout
use more appropriate phrasing: choose your specialisation

MB:learn2write
Callout
As the topic sentence of this para is to do with both success as well as failure, you also need to touch upon how it can fail


/_{but a;l;o to understand.... |
A sdherl ediealy/ e W” 7
ly ;%7;47 JW nevits Qi can V2l 9
oy i e e suys ’H 21 W&

“”J‘“% WW—W
ﬁi@%_m@& WMM
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points and the ones you
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this assignment.
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Feedback:
Score: 15 + 12
WWW:

You were able to explain how a school education can help an individual in life. The intro is good.

EBI: = \ . .

Or a topic Iike you must alSo argue how a school education can fall Short. 1Tis par ' st arfplyse
that claim as well. You have only written about'how it is good. for you.
As a magazine article, you must make it attractive, eg: use rhetorical questions, metaphors, alliterations, facts, triplef etc.
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